Cvičenie 5


Exercise 1

Let A and B  are  formulaes of predicate calculus. By using a tautology ¬A(( A(B) show, that A, ¬A├ B.

Exercise 2

If in the predicate calculus from contentious theorems we can deduce everything, ((, ¬(├ ( ), show, that for each formulaes A and B holds:

a) A├ A V B

b) A├ B V A

Exercise 3

Let A, B  and C ar formulaes. Show, that M├ A((B(C) holds, when M├ B((A(C)
Exercise 4

Let A and B are formulaes, M is the set of formulaes. Show, that holds: 

if M├ A and if M, A├ B, then M ├ B 

Exercise 5

Write in the prenex form: (x(((y()( (((z()( ( )) 

